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Prinzip-Beispiel
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Figure: Definition der Randbedingungen
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Prinzip-Beispiel
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Figure: Knoten-Bilanz aufstellen
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Knotenbilanzen

2:Qu+ @2+ Q2+ Qr+Qp2 = 0 (2)
3:Q3+Q3+ Q@ = 0 (3)

5: Qs+ Qs+ Qs +Qr = 0 (4)

6: Q6+ Q6+ Qr+ Qg = 0 (5)
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Knotenbilanzen

2:Qu+ @2+ Q2+ Qe+ Q2 = 0 (6)
Q2 = CGoarxh+ Goo* hy (7)
Qs2 = Gz*xh3+ Caoo* hy (8)
Qs2 = Goos * hs + G * ho (9)
Qr = RxDxpxAy (10)
Qpy = —0.001; (11)

2: Cior * h1 4+ (Cioo + Gao + Gona) * hp +
C3o3 % h3 + Csos * hs + Qr + Qp2 =0 @} aniscH
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Knotenbilanzen

2:Qu+ Q2+ @2+ Qr+Qp2 = 0 (13)

2: Cio1# h1 + (Cizo + Gapo + Gopp) * hy +
(G323 x h3 + Cso5 * hs + Qr + @p2 =0 (14)

2Z821*hl+322*h2+323*h3+325*h5+320:0 (15)

a1 = G (16)
axn = Co+ G+ G (17)
dp3 = C323 (18)
axs = Gss (19)
ap = Qr+ Qp2 (@i
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Knotenbilanzen

2:ax*hi +ap*xhy+axyxhs+axs*xhs+apg = 0 (21
3: a3y *x hy + az3 x hy + azg * hg + azg
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5: agp * hy 4 asg * hg + ass * hs + ase * hg + asg
6: a3 * h3 + aes * hs + age * he + a0 = 0 (24
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Knotenbilanzen

2: hy —(a21 * h1 + ap3 * h3 + axs x hs + ax) /a2  (25)
3:h3 = —(asp*hy+ ase * he + aso)/as3 (26)
5:hs = —(352 % hy + agg * hgy + ase * he + 350)/855 (27)
6:he = —(ae3*h3+ aes * hs + as0)/ 66 (28)
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